





YAK STACK LOUDSPEAKER ASSEMOBLY
10TE 1.

‘hen changing over

from Cinch-Jones

slug to k"

hone Jack: REG

3. Lead that goes
to #1 (large
pin} on Jones
plug will go
to the ring of
the Phone Jack.

REG

3. Lead that goes
to #2 (small
pin) on Jones
plug will go
to the tip of
the Phone Jack.
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Cinch
Jones -
Plug

CREG
qu,ll
Phona
Jack

REG

Phone Jack to 2-Phone Plug Cable

NOTE 2. WITH A POSITIVE VOLTAGE OF 1.5 VOLTS TAE STACK INC.
APPLIED TO THE RING OF THE PHONE.JACK AND THE n )
NEGATIVE VOLTAGE APPLIED TO THE TIP OF THE RzV¥ 1 Z(22( 96

PHONE JACK ALL SPFEAKER CONES SHOULD MOVE

OUTVARD. | = 1 D Follon

L




S MULTIPLE YAK STACK CONNECTIONS

A1
\é In ALL Figures: A =
K

s:

Standard Parallel Connection
3-Connector Patch Cahle (Black)

Special Series Connection
3-Connector Patch Cable (Rad)

6-15-B1
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FIGURE 1 - PREFERRED METHOD

2 YAK STACKs,
Connection

Series-~Parallel

8.

AMP .

o

Patch Cables
Required:
2 A (Black)
1 S (Red)

Amplifier Load
= 9.6

FIGURE 2 - Alternate
Method

2 YAK STACKs,
Connection

Series-Parallel

81

Patch Cables
Required:
1 A (Black)
2 S (Red)

Amplifier Load
= 9.6

FIGURE 3 - NOT Recommended
FLGURE o ot

2 YAK STACKs,
Connection

2 or

AMP .

Parallel

4_rn.
r A

Patch Cables
Required:
3 A (Black)

Amplifier Lcad
= 2.4
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FIGURE 5

MULTIPLE YAK STACK CONNECTIONS (Continued)

6-15-81
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FIGURE 3 - Method 1 Patch Cables:
Required:
3 YAK STACKs, Series- s s g 2 A (Black)
Parallel Connection w{x<:: —cxi:: 3 S (Red)
Amplifier
Load = 6.4,
4 or B A _
— a Gt x2=-r9 2
AMP. ,
/T2 =3 <o
FIGURE 4 - Method 2 Patch Cables

3 YAK STACKs, Series-
Parallel Connection

1

Reguired:

4 A (Black)

1 5 {Red)

Amplifier
Load = 6.4 0.

4 YAK STACKS,
Series—Parallel
Connection

iy

s

=z

Patch
Cables
Required:

6 A {(Black)

1 5 {Red)

Amplifier
Load =

4.8.n_,

g6+ &= &
x4 &




MULTIPLE YAK STACK CONNECTIONS (Continued)

6-15-81
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FIGURE 6 - PREFERRED ¥ k Patch Cables
. Required:
4 Half YAK STACKs, Series- Y Y 2 A (Black)
Parallel Connection A A 1 S (Red)
K K
Amplifier Load
= 9,.6.L0n
ks 3
Y Y
A A
= K K
FIGURE 7 - Alternate " X Patch Cables
Method Required:
. v Y 1 A (Black}
4 Half YAK STACKs, Series A A 2 5 (Red)
Parallel Connection . K K
Amplifier Load
= 9.6 .
X Y
Y Y
A A
K K




